STEERING & SUSPENSION PARTS

P 1onpoid ||v
plj2ewe 1bjiq a>apes 13|l \ BjRIEWNU BYJEd ‘LEBLUE|YIDE UNIN WM HEpUBWINYOP NG X

SINALI M3N




/
1\} i Eﬁgﬂgﬁg I

TEKNOROT REF: LA-288

Suspension Control Arm and
Ball Joint Assembly

Weight: 10,781  Length: 411  Bolt Metric: MI16X2
MODEL NO BODY CODE
DISCOVERY Il TAA
COMPONENTS NUMBER

%
‘ LA-134

=

TEKNOROT REF: LA-289

Suspension Control Arm and
Ball Joint Assembly

Length: 411

Weight: 10 761 Bolt Metric: M16X2
MODEL NO BODY CODE
DISCOVERY I TAA
COMPONENTS NUMBER

= |
‘ LA-134

=

MBER

ADAPTABLEFOR [ AND ROVER
without pneumatic
suspension
YEAR DIRECTIONS OEMNO
2004-2009 ~ TOTLRON 1 RO75994
Lower
NAME DIRECTIONS OEMNO
Ball Joint Front Lower | RBK500040, RBK500180, LRO28249*
ADAPTABLEFOR [ AND ROVER
without pneumatic
suspension
YEAR DIRECTIONS OEMNO
2004-2009  Front Left Lower LRO753996
NAME DIRECTIONS OEMNO
Ball Joint Front Lower | RBK500040, RBK500180, LRO282439*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. LA-298 ADAPTABLEFOR | AND ROVER
Lateral Arm : %

Weight: 10042  Length: 548

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RANGE ROVER SPORT | L320 2005-2013  Rear Right Lower LRO19977
TEKNOROT REF. LA-299 ADAPTABLEFOR [ AND ROVER
Lateral Arm g : o £

Weight: 10042  Length: 548

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RANGE ROVER SPORT [ L320 2005-2013  RearLeft Lower LRO19978

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-10082 ADAPTABLEFOR MERCEDES

Suspension Control Arm and
Ball Joint Assembly

with air suspension

ﬂo\ 3 s ?
4 % -

o\ L
<

Weight: 2654  Length: 4465  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
C-CLASS W205 4x4 2013- LO@ o th%r : 2053301805
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
581098
TEKNOROT REF: M-10092 ADAPTABLEFOR MERCEDES
Ball Joint Assembly

,  ®

Weight: 2654  Length: 4465  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
C-CLASS W205 4x4 2013- Forward 2053301705
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1098

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-10082 ADAPTABLEFOR MIERCEDES

Suspension Control Arm and with air suspension
g =
e AN
- \

Ball Joint Assembly

&q{e,

Weight: 2654  Length: 4465  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GLC-CLASS X2530253 2016- LOCC o IFS;QW”; : 2053301805
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
581098
TEKNOROT REF: M-10092 ADAPTABLEFOR MERCEDES
Ball Joint Assembly

e AN

P

£

&
\

Weight: 2654  Length: 4465  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
GLC-CLASS X2630258 2016- Forward 2053301705
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1098

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: M-248
Suspension Control Arm and 4matic
Ball Joint Assembly
G -
@0 - ""
Weight: 2755  Length: 450  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
. : Front Right
CLS-CLASS 0218 2011-2017 | oo
COMPONENTS NUMBER NAME DIRECTIONS
, SB1138 BONIOIATY 1 ot ower
Bushing
TEKNOROT REF: M-249
Suspension Control Arm and 4matic
Ball Joint Assembly
& =
Weight: 2755  Length: 450  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
Front Left Lower
CLS-CLASS 0218 2011-2017 Forward
COMPONENTS NUMBER NAME DIRECTIONS
’ SB 1138 Conrol AT | ont ) ower
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

EMBER

ADAPTABLEFOR MIERGEDES

OEMNO

2123505211

OEMNO

2183301211* 2183301111*

ADAPTABLEFOR MIERGEDES

OEMNO

2123303111

OEMNO

2163301211% 2183301111*



(; TNOROT 2019 DECEMBER

STEERING &8 SUSPENSION PARTS

TEKNOROT KEF: M-248 DES

Suspension Control Arm and 4matic
Ball Joint Assembly

Weight: 2755  Length: 450  Bolt Metric: M14X1,5

Front Right

E-CLASS W12 2009-2006 | 1O 2123303211
SB 1138 ControlArm | ) ower 2183301211* 2183301111
Bushing

TEKNOROT REF: M-249  sowuacos MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

5 Py \‘:;;\"“J;: {;:\;f A — ﬂ

Weight: 2755  Length: 450  Bolt Metric: M14X1,5

Front Left Lower
E-CLASS w212 2009-2016 Forward 21235303111

SB1138 Lontrol Arm Front Lower 2183301211* 2183301111*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 6



( 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: M-551 ADAPTABLEFOR MERCEDES
Steering Tie Rod End

Weight: 0598 Length: 858  Bolt Metric: M16X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
G-CLASS 1997-2018 Front Outer 4633300703
TEKNOROT REF: AC-255 ADAPTABLEFOR ACLIRA
Suspension Ball Joint
{ —
Q@ o=
Weight: 0395  Length: 843  Boit Metric: M14X2
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RSX 2nd Gen 2001-2005 Front Lower 5121556MACO

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

TEKNOROT REF: H-1016 ADAPTABLEFOR ACUKRA
Suspension Stabilizer Bar Link

I —

=
A 3

Weight: 0222 Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TSX IstGen, CL9 2004-2008 Front Right 51320TADADI
TEKNOROT REF: H-1016 ADAPTABLEFOR ACLIRA

Suspension Stabilizer Bar Link

=
A 3

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TSX Znd Gen CUZ 2009-2014 Front Right 515320TADADI

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. H-1016 ADAPTABLEFOR. HONIDA
Suspension Stabilizer Bar Link Usa Market

A 3

Weight: 0222 Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ACCORD Vil 2008-2012 Front Right 51320TADADI
TEKNOROT REF: H-1016 ADAPTABLEFOR HONLDA

Suspension Stabilizer Bar Link

=
A 3

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CROSSTOUR 2010-2015 Front Right 51320TADACL

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

TEKNOROT REF: H-1017 ADAPTABLEFOR ACUKRA
Suspension Stabilizer Bar Link

I —

&
L 4

Weight: 0222 Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TSX IstGen, CL9 2004-2008 Front Left 51325TADACI
TEKNOROT REF: H-1017 ADAPTABLEFOR ACLIRA

Suspension Stabilizer Bar Link

e

.
L 2

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TSX Znd Gen CUZ 2009-2014 Front Left 518325TADAD1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. H-1017 ADAPTABLEFOR. HONIDA
Suspension Stabilizer Bar Link Usa Market

Weight: 0222 Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ACCORD Vil 2008-2012 Front Left 51325TADACI
TEKNOROT REF: H-1017 ADAPTABLEFOR HONLDA

Suspension Stabilizer Bar Link

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CROSSTOUR 2010-2015 Front Left 51325TADACI

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. H-1043 ADAPTABLEFOR HONDA
Steering Tie Rod Usa Market

Weight: 0395 Length: 1299  Bolt Metric: M14X1,5  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ACCORD Vil 2008-2012 Front 53010TACAOL
TEKNOROT REF: HY-10181 ADAPTABLE FOR HYUNDA/
Lateral Arm

>

e ——,

Weight: 1276  Length: 348  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SONATA v 2001-2004 Rear Lower 5521038000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ; TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-10181
Lateral Arm

>

e

Weight: 1276  Length: 348  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR
MAGENTIS GO, MS 2001-2005
TEKNOROT REF. HY-10081
Suspension Control Arm and
Ball Joint Assembly
Weight: 6297  Length: 351  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR
STAREX HI 1996-2007
COMPONENTS NUMBER NAME
v
@ MI-206 Ball Joint

-re

DIRECTIONS

Rear Lower

CEMBER

ADAPTABLEFOR HA

OEMNO

5521036000

ADAPTABLEFOR HYUNDA/

DIRECTIONS

Front Right
Upper

DIRECTIONS

Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

5440147000, 544014A000,
544014A600

OEMNO

544174AA00, MB527350, MR241623



TEKNOROT REF: HY-10091 ADAPTABLEFOR HYUNDA/

Suspension Control Arm and
Ball Joint Assembly

Weight: 6297  Length: 351  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
5440047000, 544004A000,
STAREX H1 1996-2007  Front Left Upper 5440044600
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e
‘ MI-206 Ball Joint Front Upper 544174AA00 MB527350, MR241623
TEKNOROT REF: HY-10082 ADAPTABLEFOR. HYUNDA/I
Lateral Arm

Weight: 0724 Length: 195  Bolt Metric: M10X125

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Rear Upper
130 GD 2011-2017 Forward 55250A600

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-10082 ADAPTABLE FOR [{JA
Lateral Arm

—

Weight: 0724  Length: 195  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Rear Upper
CEED I 2012-2018 o 552504600
TEKNOROT REF: KI-5698 ADAPTABLEFOR A
Suspension Control Arm and
Ball Joint Assembly

Weight: 2637  Length: 362

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SPORTAGE NB7 1993-2004  Front Upper OKO1134200A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
< SB 1333 Lontrol Arm Front Upper OKO1134200A*
< Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. KI-601611

Steering Tie Rod Assembly YEAR ONLY

1998-2004

Pl #

=i g

Weight: 1678 Length: 376  Bolt Metric: M12X1,25  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
SPORTAGE NB7 1993-2004 Front Right

COMPONENTS NUMBER NAME DIRECTIONS

Steering Tie Rod

KI-601 £nd

Front Right Inner

|m| K611 Steering Tie Rod

£nd Front Right Outer

TEKNOROT REF: KI-602612
Steering Tie Rod Assembly

Weight: 0678 Length: 376  Bolt Metric: M12X1,25  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
RETONA 1993-2004 Front Left
COMPONENTS NUMBER NAME DIRECTIONS
h KI-602 Sreer/'nE% dT/'e rod Front Left Inner
- wre1z | SO TEROD cony et Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR HA

OEMNO

OKO1132280A

OEMNO

OKO11532290A*

OKO1132290A*

ADAPTABLEFOR HA

OEMNO

OKO1132270A

OEMNO

OKO1132270A*

OKO1132270A*




/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. KI-601611

Steering Tie Rod Assembly YEAR ONLY

1998-2004

Pl #

=i g

Weight: 1678 Length: 376  Bolt Metric: M12X1,25  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
SPORTAGE NB7 1993-2004 Front Right

COMPONENTS NUMBER NAME DIRECTIONS

Steering Tie Rod

KI-601 £nd

Front Right Inner

|m| K611 Steering Tie Rod

£nd Front Right Outer

TEKNOROT REF: KI-602612
Steering Tie Rod Assembly

Weight: 0678 Length: 376  Bolt Metric: M12X1,25  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
RETONA 1993-2004 Front Left
COMPONENTS NUMBER NAME DIRECTIONS
h KI-602 Sreer/'nE% dT/'e rod Front Left Inner
- wre1z | SO TEROD cony et Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR HA

OEMNO

OKO1132280A

OEMNO

OKO11532290A*

OKO1132290A*

ADAPTABLEFOR HA

OEMNO

OKO1132270A

OEMNO

OKO1132270A*

OKO1132270A*




TEKNOROT REF: KI-618  oenmsor gy

Suspension Control Arm and
Ball Ja/ﬁtAssemb/y "

Weight: 5105 Length: 346

CARENS I 2002-2006 Fr CZ’; % f ht OK2FA34300

Joint

! 5 Kgoa | SUspEnsOnBal o e OK2FA34550

Suspension Control Arm and
Ball Joint Assembly

Weight: 5105 Length: 346

CARENS I 2002-2006  Front Left Lower OK2FA34350

Joint

! 1 KI-624 SuspensonBall | oo ower OK2FA34550

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 18




(; TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. HI-621
Steering Tie Rod

2019 DECEMBER

o YEAR ONLY
1998-2004

Weight: 0181 Length: 100  Bolt Metric: M18X1,5

SPORTAGE NB7

1993-2004 Front OKO1132270A* OKO1132290A%

d wesor | ST TEROT oot pignt ner OKO1132290A*
d wen | OO TR ot pignt quter OKO11322904%
& wreoz | SO TEROT | ont et nner OKO1132270A%
- wrerz | SO TEROT | ot et outer OKO1132270A%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com



/
\) i Eﬁgﬂgﬁg I

TEKNOROT REF: KI-621 ADAPTABLEFOR HA
Steering Tie Rod

Ty Mvmmnmmmmﬂn

M A Mk “»4 SRR A0

......................

Weight: 01681 Length: 100  Bolt Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RETONA 1993-2004 Front OKO1132270A* OKO1132290A*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
M Keeor | StEEn ”;% Z] RO | Eront Right Inner OK01132290A*
- kre1r | SO TEROT pront pignt Quter OKO1132290A*
Sy K02 | O ”;% Z] BRI | Front Left Inner OKO1132270A*
&= Ke12 | O ”;% Z] BROG | Front Left outer OKO1132270A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING &8 SUSPENSION PARTS

(\ TXNOROT

TEKNOROT REF: MA-888

Suspension Control Arm and
Ball Joint Assembly

Weight: 4891  Length: 3855  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
. . Front Right
MX-5 II'CNB ] 1998-2005 L ower
COMPONENTS NUMBER NAME DIRECTIONS

& MA-305 Ball Joint Front

TEKNOROT REF. MA-888S
Suspension Control Arm

Weight: 4061  Length: 3655

MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
MX-5 I(NB]J 1998-2005 L ower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZA

MBER

OEMNO

NO6634510

OEMNO

NAO134550

ADAPTABLEFOR MIAZA

OEMNO

NO6634310



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF. MA-889

Suspension Control Arm and
Ball Joint Assembly

Weight: 4891  Length: 3855  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
MX-5 Il (NB] 1998-2005  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS

‘ MA-305 Ball Joint Front

TEKNOROT REF. MA-889S
Suspension Control Arm

Weight: 4061  Length: 3655

MODEL NO BODY CODE YEAR DIRECTIONS

MX-5 I (NB) 1998-2005  Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZA

OEMNO

NO6634360

OEMNO

NAO134550

ADAPTABLEFOR MIAZA

OEMNO

NOB634360




L 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: MI-733 ADAPTABLEFOR MITSUBISH/
Steering Tie Rod . e

— -

o e ———— -

Weight: 0552  Length: 334  Bolt Metric: M15X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
ECLIPSE 46 2006-2011 Front Inner 4422A044
TEKNOROT REF: MI-733 ADAPTABLEFOR MIITSUBISH/

Steering Tie Rod

, ~

Weight: 0552  Length: 334  Bolt Metric: M15X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

GALANT Vil 2004-2012 Front Inner 44224044

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(} TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-278 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 5895  Length: 421

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
QUEST 3thGen V42 — 2004-2009 Fr ‘Z’; rwggg?m 545000K000
TEKNOROT REF: N-279 ADAPTABLEFOR NIJSSAN
Suspension Control Arm and
Ball Joint Assembly

Weight: 56895  Length: 421
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

QUEST 3th Gen, V42 2004-2009  Front Left Lower 54501CK000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: 8B 1333 ADAPTABLEFOR HA
control Arm Bushing

Weight: 014  Length: 45

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SPORTAGE NB7 1993-2004 Front Upper OKO1134200A*
TEKNOROT REF. T-1028 ADAPTABLEFOR TOYOTA
Suspension Control Arm and BASE MODEL, PRE- | :

Ball Joint Assembly RUNNER TYPE

Weight: 7044 Length: 4465  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TACOMA 2nd Gen 2005-2005  TTOLRAN 4806804040
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
g 7-1024 SUSDBJZ%?” B3l Front Lower 4806804040

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. T-1029 ADAPTABLEFOR TOYOTA

Suspension Control Arm and BASE MODEL, PRE-
Ball Joint Assembly RUNNER TYPE

D)
\
-

Weight: 7044  Length: 4465  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TACOMA 2nd Gen 2005-2015  Front Left Lower 4806904040
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
% ,
& T-1024 S“SDEJ”,S’O” Bal | tront Lower 4806804040*
2 oint
TEKNOROT REF: BU-206 ADAPTABLEFOR BLIICK
Suspension Stabilizer Bar Link SPORTBACK

Weight: 0358  Length: 100

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

REGAL 6th Gen 2016- Rear 84451421

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: BU-206
Suspension Stabilizer Bar Link

Weight: 0358  Length.: 100
MODEL NO BODY CODE
MALIBU 9th Gen

TEKNOROT REF. CD-164
Suspension Ball Joint

Weight: 0652  Length: 103  Bolt Metric: M14X2

MODEL NO BODY CODE

CTS 1stGen

BER

HYBRID

YEAR DIRECTIONS OEM NO
2016- Rear 84451421
ADAPTABLEFOR CADILLAC
YEAR DIRECTIONS OEM NO
2003-2007 Front Lower K80635, 25758283, 25758280,

257582681

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-10081

Suspension Control Arm and C1500
Ball Joint Assembl|
y YEAR ONLY
1995-1999
Weight: 4008 Length: 363  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
SUBURBAN 8th Gen 1992-1999 Upper
COMPONENTS NUMBER NAME DIRECTIONS
.
‘ CH-785 Ball Joint Front Upper
TEKNOROT REF.: CH-10081
Suspension Control Arm and C2500
Ball Joint Assembl/
4 YEAR ONLY
1995-1999
Weight: 4008 Length: 383  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
SUBURBAN 8th Gen 1992-1999 Unper
COMPONENTS NUMBER NAME DIRECTIONS
‘ CH-785 Ball Joint Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

EMBER

ADAPTABLEFOR GHEVROLET

OEMNO

RKEBZ21234, 125459598

OEMNO

15969262

ADAPTABLEFOR CHEVROLET

OEMNO

RKE21234, 12543998

OEMNO

15969282



(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-10081 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and
Ball Joint Assembly

Weight: 4008 Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TAHOE 1st Gen 1992-2000 i ‘Z% [féfm RKB21234, 12543998

COMPONENTS NUMBER NAME DIRECTIONS OEM NO

.

& CH-785 Ball Joint Front Upper 15869282
TEKNOROT REF.: CH-10081 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly

Weight: 4008 Length: 383  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Right
EXPRESS 2500 1stGen 1996-2002 Upper RKE21234, 12543938
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
& CH-785 Ball Joint Front Upper 15969282

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
k} i Eﬁgﬂgﬁg I

TEKNOROT REF: CH-10081

Suspension Control Arm and
Ball Joint Assembly

Weight: 4008  Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE
EXPRESS 3500 1stGen
COMPONENTS NUMBER
— %

‘ CH-785

TEKNOROT REF: CH-10091

Suspension Control Arm and
Ball Joint Assembly

Weight: 4008 Length: 383  Bolt Metric: M16X1,5

MODEL NO BODY CODE
SUBURBAN 8th Gen
COMPONENTS NUMBER

‘ CH-785

YEAR DIRECTIONS

1992-1999  Front Left Upper

NAME DIRECTIONS

Ball Joint Front Upper

EMBER

ADAPTABLEFOR GHEVROLET
Over 7500 Gvw

YEAR DIRECTIONS OEM NO
1996-2002  TOMLRON RKB21234, 12543998
Upper
NAME DIRECTIONS OEM NO
Ball Joint Front Upper 15869282
ADAPTABLEFOR CHEVROLET
C1500
YEAR ONLY
1995-1999

OEMNO

RKE21233, 12543997

OEMNO

15969282

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



BER

STEERING &8 SUSPENSION PARTS

/
\)\ TeCNOROT

TEKNOROT REF: CH-10091 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and C2500
Ball Joint Assembly YEAR ONLY

o 1995-1999

Weight: 4008 Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SUBURBAN 8th Gen 1992-1999  Front Left Upper RKB21233, 12543997
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

.

& CH-785 Ball Joint Front Upper 15869282
TEKNOROT REF: CH-10091 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and
Ball Joint Assembly

Weight: 4008 Length: 383  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAHOE 1stGen 1992-2000  Front Left Upper RKB21233, 12543997
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
—
& CH-785 Ball Joint Front Upper 15969282

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-10091 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly

Weight: 4008  Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 2500 1st Gen 1996-2002  Front Left Upper RKB21233, 12543997
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-785 Ball Joint Front Upper 15869282
TEKNOROT REF: CH-10091 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly
/&

Weight: 4008 Length: 383  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 3500 1stGen 1996-2002  Front Left Upper RKB621233, 12543997

COMPONENTS NUMBER NAME DIRECTIONS OEM NO

‘ CH-785 Ball Joint Front Upper 15969282

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



o/ a
\J\ TeCNOROT

TEKNOROT REF: CH-1026
Suspension Stabilizer Bar Link

Weight: 0413 Length: 298  Bolt Metric.: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LUMINA 2nd Gen 1995-2001  Front Right 92246136
TEKNOROT REF.: CH-1026 ADAPTABLEFCR PONTIAC

Suspension Stabilizer Bar Link

&
e

?——é

Weight: 0413  Length: 298  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G8 2008-2009 Front Right 92246136

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



o/ a
\J\ TeCNOROT

TEKNOROT REF. CH-1027
Suspension Stabilizer Bar Link

Weight: 0413 Length: 298  Bolt Metric.: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

LUMINA 2nd Gen 1995-2001 Front Left

TEKNOROT REF: CH-1027
Suspension Stabilizer Bar Link

%

o

Weight: 0413  Length: 298  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

G8 2008-2009 Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

92246135

ADAPTABLEFOR PONTIAC

OEMNO

92246135



L 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CR-431 ADAPTABLEFOR CHRYSLER
Steering Tie Rod End w/ Power Steering; 4 Door;
& awo
'H YEAR ONLY
2007-2009

Weight: 0667 Length: 120  Bolt Metric: M14X1,5  Housing Metric: M15X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

526855765AC, 52855763AA,

ASPEN 2002-2009 Front Outer 5085575948

TEKNOROT REF: CR-431

Steering Tie Rod End w/ Power Steering; 4 Door;
& WD
¥

Weight: 0667 Length: 120  Bolt Metric: M14X15  Housing Metric: M15X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

52855765AC, 52855763AA,

DURANGO 2nd Gen 2004-2009 Front Outer 5085576948

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: CR-435
Lateral Arm

Weight: 1118 Length: 708

MODEL NO BODY CODE

TOWN & COUNTRY 4th Gen

TEKNOROT REF: CR-435

Lateral Arm
I e
Weight: 1118  Length: 708
MODEL NO BODY CODE
TOWN & COUNTRY 3rd Gen

track bar
YEAR DIRECTIONS
2001-2007 Rear
track bar
YEAR DIRECTIONS
1995-2001 Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

EMBER

ADAPTABLEFOR CHRYSLER

OEMNO

4684349

ADAPTABLEFOR CHRYSLER

OEMNO

4664349



STEERING &8 SUSPENSION PARTS

4 ) TXNOROT

TEKNOROT REF: CR-435
Lateral Arm

Weight: 1118 Length: 708

MODEL NO BODY CODE

GRAND CARAVAN

TEKNOROT REF: CR-435
Lateral Arm

Weight: 1118  Length: 708

MODEL NO BODY CODE

GRAND CARAVAN

EMBER

ADAPTABLEFOR DODGE

track bar
YEAR DIRECTIONS
1995-2001 Rear
track bar
YEAR DIRECTIONS
2001-2008 Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

4684349

ADAPTABLEFOR DODGE

OEMNO

4664349



{5 TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: DO-353 ADAPTABLEFOR DODGE
Steering Tie Rod W/ 5 Lug Wheels

= e ——e—

Weight: 0928 Length: 3/0  Bolt Metric: M12X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

55566363A0, 56366365A0,

RAM 1500 4th Gen 2006-2010 Front Inner 6803226544, EVB0098
TEKNOROT REF: DO-353 ADAPTABLE FOR RAM
Steering Tie Rod 5 Lug Wheels

YEAR ONLY
2011-2012

= e ———

Weight: 0928  Length: 370  Bolt Metric: M12X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

55866385A0, 56366385A0,

1500 2011- Front Inner 68032265A4, EVBO098

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF.: F-1031 ADAPTABLEFOR HAM
Steering Tie Rod End

>
—

Weight: 0556 Length: 112  Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PROMASTER CITY 2015- Front 66267925AA
TEKNOROT REF: F-1032 ADAPTABLEFOR RAM
Steering Tie Rod End

-

Weight: 0556 Length: 112  Bolt Metric: M12X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PROMASTER CITY 2015- Front 68267928A4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1104
Suspension Ball Joint Monobeam axle

Weight: 0796 Length: 855  Bolt Metric: 3/4-16 UNF

MODEL NO BODY CODE YEAR DIRECTIONS

F-450 SUPER DUTY 2005-2016 Front Upper

TEKNOROT REF. FO-1104
Suspension Ball Joint Monobeam axle

Weight: 0796  Length: 855  Bolt Metric: 3/4-16 UNF

MODEL NO BODY CODE YEAR DIRECTIONS

F-550 SUPER DUTY 2005-2016 Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

BC323049A

ADAPTABLEFOR FORD

OEMNO

BC3Z3045A




A T=
\; i EE,N(L;NQEH I

TEKNOROT REF. FO-1115

Suspension Ball Joint For Vehicles With GVW up

o 3850 Kg

Weight: 0552  Length: 37  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
F-150 10th Gen 1997-2003 Front Lower
TEKNOROT REF. FO-1115
Suspenston Ball Joint For Vehicles With GVW up
CE fo 3850 Kg
Weight: 0552  Length: 97  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
RANGER [USA Type 1998-2011 Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

JECEMBER

ADAPTABLE FOR ngp

OEMNO

F5723V050B68B

ADAPTABLEFOR FORD

OEMNO

F5723V050BB



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF. FO-1115 ADAPTABLEFOR ORI
Suspension Ball Joint For Vehicles With GVW up
O to 3850 Kg
Weight: 0552  Length: 37  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 10th Gen 1997-2003 Front Lower F5723V050B68B
TEKNOROT REF: FO-1115 ADAPTABLEFOR ORI
Suspension Ball Joint For Vehicles With GYW up
O to 3850 Kg
Weight: 0552  Length: 97  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPEDITION 1stGen 1897-2003 Front Lower F57Z23V05088

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=XNOROT

TEKNOROT KEF. FO-1115 ADAPTABLEFCR [ INCOLN
Suspension Ball Joint For Vehicles With GVWup & | el
i to 3850 g
Weight: 0552  Length: 37  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
NAVIGATOR 1st Gen 15997-2003 Front Lower F5723V0508B
TEKNOROT REF: FO-1123 ADAPTABLEFOR ORI
Steering Tie Rod 4W0 L ‘

Weight: 081 Length: 3048  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-150 11th Gen 2004-2008 Front 6L373260B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( 5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1123 ADAPTABLEFOR [ INCOLN
Steering Tie Rod 4WD e

- —— =,

Weight: 061 Length: 3048  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MARKLT 1stGen 2006-2008 Front 6L325280B
TEKNOROT REF: FO-1181 ADAPTABLEFOR ORI
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric: M14X15  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-150 1980-1996  Front Right Outer EOTZ3A1310

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: FO-1181
Steering Tie Rod End RWD, USA TYPE

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

RANGER 1983-1997  Front Right Outer

TEKNOROT REF: FO-1181
Steering Tie Rod End RWD

BRI e

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

E-350 1980-1997  Front Right Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

EOTZ3A151C

ADAPTABLEFOR FORD

OEMNO

EOTZ3A131C




TEKNOROT REF: FO-1181 ADAPTABLEFOR FORD
Steering Tie Rod End RWD

max

L

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 19680-1897  Front Right Outer EOTZ3A151C
TEKNOROT REF: FO-1181 ADAPTABLEFOR ORI
Steering Tie Rod End

i
AL

Weight: 0781  Length: 140  Bolt Metric: M14X15  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

BRONCO 1980-1996  Front Right Outer EOTZ3A1310

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( 5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1181 ADAPTABLEFOR FORD
Steering Tie Rod End

[ i
M

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-100 19680-1983  Front Right Outer EOTZ3A151C
TEKNOROT REF: FO-1182 ADAPTABLEFOR ORI
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric: M14X15  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-150 1980-1996  Front Left Outer EOTZ3A1310

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: FO-1182
Steering Tie Rod End RWD, USA TYPE

I

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

RANGER 1983-1997  Front Left Outer

TEKNOROT REF: FO-1182
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

E-350 1980-1997  Front Left Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

EOTZ3A1310

ADAPTABLEFOR FORD

OEMNO

EOTZ3A131D




A T=
\} i EEIN(GNQEH I

TEKNOROT REF. FO-1182
Steering Tie Rod End RWD

i \
I,

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-250 1980-1997  Front Left Outer

TEKNOROT REF. FO-1182
Steering Tie Rod End

(1444 |
N

Weight: 0781  Length: 140  Bolt Metric: M14X15  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

BRONCO 1980-1996  Front Left Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

CEMBER

ADAPTABLEFOR FORD

max

OEMNO

EOTZ3A1310

ADAPTABLEFOR FORD

OEMNO

EOTZ3A131D



4 ) TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1182 ADAPTABLEFOR FORD
Steering Tie Rod End

A,

Weight: 0781  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-100 19680-1983  Front Left Outer EOTZ3A1310
TEKNOROT REF: FO-1322 ADAPTABLEFOR ORI
Steering Tie Rod End 4AWD

i am———

Weight: 1351 Length: 205  Bolt Metric: M14X1,5  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY 1stGen 1999-2007  Front Left Inner AC373304N

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1322 ADAPTABLEFOR FORD
Steering Tie Rod End 4WD

(e
il

Weight: 1351 Length: 205  Bolt Metric: M14X1,5  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
F-350 SUPER DUTY 1st Gen 1999-2007  Front Left Inner AC3Z3304N
TEKNOROT REF. FO-1322 ADAPTABLEFOR ORI
Steering Tie Rod End 4AWD

-
o

Weight: 1351 Length: 205  Bolt Metric: M14X1,5  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXCURSION 2000-2005  Front Left Inner AC373304N

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: JE-338 ADAPTABLEFOR JODGE

Suspension Control Arm and
Ball Joint Assembly

Weight: 9.956  Length: 5245  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
NITRO 2007-2012 Lower 52109986AH
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
5 JE-344 Ball Joint Front Lower 52109987AH", 52109986AH*
TEKNOROT REF: JE-338 ADAPTABLEFOR _JEEP
Suspension Control Arm and

Ball Joint Assembly

Weight: 3956  Length: 5245  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CHEROKEE KK 2008-2013 ORI 521099864H
Lower
G'UMPQNE/V 758 NUMBER NAME DIRECTIONS OEM NO
‘ JE-344 Ball Joint Front Lower 52109967AH". 52109986AH*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: JE-338

Suspension Control Arm and
Ball Joint Assembly

Weight: 9956  Length: 5245  Bolt Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LIBERTY KK o008-2014  TTOTERONE 52109986AH
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i JE-344 Ball Joint Front Lower 52109987AH*, 52109966AH*
TEKNOROT REF: JE-339 ADAPTABLEFOR [JODGE
Suspension Control Arm and

Ball Joint Assembly

Weight: 3956  Length: 5245  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
NITRO 2007-2012  Front Left Lower 52109987AH
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
5 JE-344 Ball Joint Front Lower 52109987AH* 52109986AH*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘A TXNOROT

A
|
\\J STEERING &8 SUSPENSION PARTS

TEKNOROT REF: JE-339 ADAPTABLEFOR _JEEP

Suspension Control Arm and
Ball Joint Assembly

Weight: 3956  Length: 5245  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CHEROKEE KK 2008-2013  Front Left Lower 52109987AH
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i JE-344 Ball Joint Front Lower 52109987AH* 52109986AH*
TEKNOROT REF: JE-339 ADAPTABLEFOR _JEEP
Suspension Control Arm and i "

Ball Joint Assembly

Weight: 3956  Length: 5245  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LIBERTY KK 2008-2014  Front Left Lower 52109987AH
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i JE-344 Ball Joint Front Lower 52109987AH* 52109986AH*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. JE-3482 ADAPTABLEFOR JEEP

Suspension Control Arm and
Ball Joint Assembly

o J=\ ]
v = EX~

Weight: 3348  Length: 575

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

WRANGLER 2007-2018 Front Lower 520599797F, K520599797F
TEKNOROT REF: S8 1173 ADAPTABLEFOR GHE VROLET
Control Arm Bushing :

Weight: 0601  Length: 90

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 1500 1996-2002 T D’[ﬁg’;”e’ 15665555* 15665554

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1173 ADAPTABLEFOR GHEVROLET
control Arm Bushing

Weight: 0601 Length: S0

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAHOE 1995-2000 " UZZLtngBr 15665555* 15665554*
TEKNOROT REF. SB 1174 ADAPTABLEFOR CHEVROLET
Control Arm Bushing :

Weight: 0521  Length: 76,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXPRESS 1500 1996-2002 T D’;nt égrwer 156656555 15665554+

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: SB 1174 ADAPTABLEFOR GHEVROLET
control Arm Bushing

Weight: 0521  Length: 76,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAHOE 1995-2000 " O’;nf égrwef 15665555* 15665554*
TEKNOROT REF: 8B 1332 ADAPTABLEFOR CHEVROLET
Control Arm Bushing

Weight: 0748  Length: 65

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SILVERADO 2500 2nd Gen 2011-2018 Front Upper 20924215*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: TS-1001

Steering Tie Rod End YEAR ONLY
& to 2016
e
&

Weight: 0635 Length: 131  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

MODEL § 5YJS 2012- Front Outer

TEKNOROT REF: TS-1001233

Steering Tie Rod Assembly YEAR ONLY

to 2016

__l_q!-

Weight: 1695 Length: 298  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
MODEL 5 5vJ5 2012- Front
COMPONENTS NUMBER NAME DIRECTIONS
; req001 | SETOTERT T pront guter
- ——— LA-233 Axial Joint Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR TESILA

OEMNO

6007071*

ADAPTABLEFOR TESILA

OEMNO

6007071

OEMNO

6007071*

15LR0O26271




/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: TS-1004 ADAPTABLEFOR TESILA

Suspension Ball Joint
®

LEL

\!‘

a3

Weight: 0515 Length: 73.9

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MODEL S 5YJs 2012- Front Upper 1043966004, 104396500A%
TEKNOROT REF: TS-1006 ADAPTABLEFOR TESLA

Suspension Stabilizer Bar Link

5

Weight: 0401 Length: 201  Bolt Metric: M10X125

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MODEL S 5YJS 2012- Front Right 600891500A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: TS-1007
Suspension Stabilizer Bar Link

e ESLA

Weight: 0401  Length: 201  Bolt Metric: M10X125

MODEL S 5YJs 2012- Front Left 600709800A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 60




